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< What is the question?
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< Why should we care about this?
1. Carefully 45 T AURMEEALFZMLEL reliable BRI AGH K5
2. EARAMHFAE SRR - W AR ENE (mobility )

<> What is the answer?

AEERN RS - SORBL R T AR E SRR AL -

<> How did you get there?

F1F 1990-1994 F{1 2005-2010 &}

1) F oLS JATEFEEAU A

YS=BY +e

2) BT HEMISCEERAA - AMU SEEA

yi= XY + age; + age;” + MUS year dummies +¢,

3) yi= B(y hat){+age’ + age,**™*®) + TSCS year dummies +u;
(y hat)i'=X{(Y hat)

4) yi=B(y bar)? + age + age* """ + TSCS year dummies +u;

Notation

1) YS,Y' BRI permanent U A (in logarithm)

2) vitg HUAlin logarithm) ; Xi UL ATEHIES B2 CIEBEEE - JUER R
FIHE T/ESERL Y + age; + age” + MUS

3) v SEFMEAWA ; (v hat)| FERSCHBA

4) (y bar),°=average household earning/ average number of employee



